
Lecture Recap
(Phillips Curve and NAIRU)



Lecture Recap
Phillips Curve

↭ Original Phillips curve

ωt = →εu + constant

↭ Expectations-augmented Phillips curve

ωt = ωe
t → ε(ut → un) ↑ ωt → ωe

t = →ε(ut → un)

↭ If ωe
t + εun = constant, then the above two equations are equivalent.

↭ Assuming adaptive expectations, ωe
t = ωt→1, we get the “accelerationist Phillips curve”

ωt → ωt→1 = →ε(ut → un)
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Lecture Recap
NAIRU

↭ Non-Accelerating Inflation Rate of Unemployment (NAIRU) : un.

↭ NAIRU is the unemployment rate at which actual inflation is equal to expected inflation.

ωt = ωe
t → ε(ut → un)

↭ NAIRU is the lowest unemployment rate that can be sustained without causing inflation to

accelerate.

↭ NAIRU is not directly observable, not constant, and not known with certainty.



Lecture Recap
NAIRU

↭ Non-Accelerating Inflation Rate of Unemployment (NAIRU) : un.

↭ NAIRU is the unemployment rate at which actual inflation is equal to expected inflation.

ωt = ωe
t → ε(ut → un)

↭ NAIRU is the lowest unemployment rate that can be sustained without causing inflation to

accelerate.

↭ NAIRU is not directly observable, not constant, and not known with certainty.



Lecture Recap
NAIRU

↭ Non-Accelerating Inflation Rate of Unemployment (NAIRU) : un.

↭ NAIRU is the unemployment rate at which actual inflation is equal to expected inflation.

ωt = ωe
t → ε(ut → un)

↭ NAIRU is the lowest unemployment rate that can be sustained without causing inflation to

accelerate.

↭ NAIRU is not directly observable, not constant, and not known with certainty.



Lecture Recap
NAIRU

↭ Non-Accelerating Inflation Rate of Unemployment (NAIRU) : un.

↭ NAIRU is the unemployment rate at which actual inflation is equal to expected inflation.

ωt = ωe
t → ε(ut → un)

↭ NAIRU is the lowest unemployment rate that can be sustained without causing inflation to

accelerate.

↭ NAIRU is not directly observable, not constant, and not known with certainty.


